
YÜKSEKÖĞRETİM KURUMLARI SINAVI

YABANCI DİL DENEME TESTİ (YDT)

w w w . d i l k o y a y i n c i l i k . c o m

İNGİLİZCE

10

Soru kitapçık numarasının cevap kağıdına kodlanmamasının veya yanlış kodlanmasının sorumluluğu adaya aittir.

BOX SET



2

İNGİLİZCE

WINNER 12.9

DENEME SINAVI 10

w
w

w
.d

il
k

o
y

a
y

in
c

il
ik

.c
o

m

BOX SET

9. - 15. sorularda, cümlede boş bırakılan 
yerlere uygun düşen sözcük ya da ifadeyi 
bulunuz.

9. The brown bear is a large bear that inhabit ---- 
northern Eurasia and North America.

A) many
B) none
C) much of
D) several
E) a good deal

10. ---- is called Morse code today is actually 
somewhat different from ---- was originally 
developed by Vail and Morse.

A) Where / how
B) Which / what
C) That / which
D) What / what
E) How / that

11. Liz woke up very early this morning ---- she 
would be at the airport before her guests 
arrived.

A) likewise
B) though
C) in case
D) in order that
E) but

12. At the beginning of this century, there was 
some disagreement over ---- the game of 
football actually originated.

A) how long
B) what
C) how
D) whether 
E) that

13. Gunpowder was the only explosive until 
the mid-19th century and was used ---- as a 
propellant in fi rearms ---- as a bursting charge 
in grenades and shells.

A) either / but
B) both / and
C) neither / no
D) not only / and
E) no sooner / than

14. The compound, ---- the active ingredient in 
aspirin was fi rst derived, salicylic acid, was 
found in the bark of a willow tree in 1763.

A) whom
B) from which
C) when
D) of whose 
E) with which

15. The warmth of the class ---- almost all the 
students ---- during the lesson, which made 
the teacher angry.

A) made / doze
B) let / to doze
C) have / dozed
D) get / dozed
E) have / to doze
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59. - 63. sorularda, boş bırakılan yere, 
parçada anlam bütünlüğünü sağlamak için 
getirilebilecek cümleyi bulunuz.

59. ---- The fi rst one is normal matter, which are 
the physical objects in the universe such 
as the planets. The second is dark matter, 
which is invisible matter that creates the 
gravitational pull that causes galaxies to form. 
The last one is an unknown energy referred to 
as ‘dark energy’, the force which causes the 
universe to expand.

A) The Universe is very large and possibly 
infi nite in volume.

B) Scientists claim that the universe is made 
up of three different components.

C) Black holes form, when stars much larger 
than our Sun, run out of their fuel.

D) How the universe was created is one of 
the questions that will probably never be 
answered completely.

E) The universe has not been the same at all 
times in its history.

60. Sprinters typically reach top speed after 
somewhere between 50-60 m. ---- Maintaining 
that top speed for as long as possible is a 
primary focus of training for the 100 m. In the 
past, athletes often competed over 100 yards 
instead of 100 m, especially in the United 
States. This distance is now obsolete.

A) For the 100 m race, all competitors are lined 
up side-by-side before they start to race.

B) Sprints are short running races in athletics.
C) Their speed then slows progressively 

towards the fi nish line.
D) Any athlete who ran outside the assigned 

lane was disqualifi ed.
E) Finishing times are, thus, only recorded by 

an electronic timing system.

61. Scientists say Earth’s atmosphere acts like a 
greenhouse. Carbon dioxide and other gases 
in the atmosphere trap heat from the sun 
preventing the heat from escaping into outer 
space. ---- However, the balance is changing. 
Human activities are producing increased 
amounts of carbon dioxide and other gases. 
Burning fuels like oil and coal is a major cause 
and clearing forests for agriculture is another.

A) Recent data also shows this concentration 
is increasing at a higher rate.

B) Water vapour accounts for the largest 
percentage of the greenhouse effect.

C) The burning of fossil fuels since the 
industrial revolution has increased the levels 
of greenhouse gases in the atmosphere 
negatively.

D) This balanced system makes it possible for 
plants, animals and people to survive on 
Earth.

E) The United States emitted 16.3% more 
greenhouse gas in 2005 than it did in 1999.

62. There are several theories about the cause 
of Parkinson’s. ---- Studies have shown a 
link between the disease and some chemical 
products. Two years ago, for instance, a 
study found a link between Parkinson’s and 
pesticides. Another study found that serious 
head injuries also increased the risk.

A) The most commonly used drug is levodopa 
combined with carbidopa.

B) But none has ever been confi rmed.
C) However, most cases involve people with no 

such family history.
D) The company is working with two not-for-

profi t groups.
E) Another area of study is family genetics.
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74. Toplantıda söylemek istediğim şey üretimin 
başka yollarla arttırılması gerektiğiydi fakat 
sözlerim yanlış anlaşıldı.

A) What I was trying to say at the meeting was 
that the production had to be increased 
through different ways but my words were 
misunderstood.

B) The thing that I meant to say at the meeting 
was that different ways must be followed to 
increase the production; however, my words 
were misunderstood.

C) The fact that the production must be 
increased by different ways was one of my 
ideas which was misunderstood.

D) What I said at the meeting was that 
the production was increased by using 
different ways; however, my words were 
misunderstood.

E) Although my words were misunderstood, 
what I tried to say at the meeting was that 
different ways had to be used to increase 
the production.

75. Şu anda migrenin sebebi bilinmiyor ancak 
atakların beyindeki kan damarlarının ve bazı 
sinir hücrelerinin yanı sıra vücuttaki kimyasal 
değişiklerle bağlantılı olduğu söyleniyor.

A) Even though the reason of migraine is 
unknown, the attacks are said to be linked 
to chemical changes in the body. Besides, 
blood vessels and certain nerve cells in the 
brain affect these chemical changes.

B) It is said that migraine attacks have a 
connection with the chemical changes in the 
body in addition to the blood vessels and 
certain nerve cells in the brain.

C) The reason of migraine is unknown now; 
nevertheless, attacks may be linked to not 
only chemical changes in the body but also 
blood vessels and certain nerve cells in the 
brain.

D) People don’t know the reason of migraine 
now; however, it is said that attacks are 
linked to both chemical changes in the body 
and certain nerve cells in the brain.

E) The reason of migraine is unknown now; 
however, it is said that attacks are linked to 
chemical changes in the body as well as 
blood vessels and certain nerve cells in the 
brain.
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